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MwuHyTHag cTpersika

UacoBas cTperika

1 yac - 300

4 yaca - 120°

7/ Yacos - 1500



MuHyTHaa cTpernka

3a OWH Yac aenaert nonHbIn
o6opoT - 360 0

3a ogHy MuHyTy agenaet 1/60
YacTb obopoTa - 6

3a 5 MuHyT - 6*5 = 300
3a 10 MuHYT - 6*10 = 60°

0
3a N MUHYT - 6"N = 6N



UacoBas cTperka

0
3a oauH vac - 30

3a 2 yaca - 30*2 =609
3a 5 yacos - 30*5 = 150°

0
3anyacoB - 30*n =30n

3a ogHy MuHyTy - 1/60 ot
yaca, T.e. OoT 30° -

30:60=05"

3a 5 MuHyT 0,5*5=2,5°

3a 20 MuHyT 0,5*20=10"°

3a n MuHyT 0,5*n=0,5n"°



